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Which of the following is the highest waterfall in India?

A)Jog B)Magod
C)Barkana D)Kunchikal
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 3) (objection.aspx?qwr=3310159829&qwer=3)

Question No. 4
39 WA A, U FYS & g &) s o r ¥ 3@ s A g S arfde §T @ 9@ At suge €
FYA: HFYA X o 3cure F Ao frar 1 afe Faa 3R oraear RFEroir € o 3mr 5§ 3k 5@ @l o
fasd: | 3cuTE I[uTacr 7 3ot Qe =Rl . 3cure Fr P 3RT @ g
AT @ fasey | & ar 1| aRome § B)dhad sy || aRums &1
C)a ar sy | 3R &7 & 1| aRomar g D)faswy | 3R 1l gt aRome &1

In this question, a statement is given followed by two conclusions. Choose the conclusion(s) which best fit(s)
logically. Statement: Company X has marketed a product. If price and quality are the consideration, go ahead
and purchase it. Conclusions: . The product must be good in quality. Il. The price of product must be

reasonable.

A)Either conclusion | or 1l follows B)Only conclusion Il follows

C)Neither conclusion | nor Il follows D)Both conclusions | and Il follow

Answer Key : D Your Response : D (Correct) Raise Objection(Question No. 4) (objection.aspx?qwr=3310159829&qwer=4)

Question No. 5
gfe a* + a®b?> + b4 = 16 3 a2 + ab + b2 = 8 §, a 'ab' & AT AT HI
A)3 B)8
C)6 D)1

If a* + a?b? + b* = 16 and a2 + ab + b? = 8, then find the value of 'ab'.

A)3 B)8
C)6 D)1
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 5) (objection.aspx?qwr=3310159829&qwer=5)

Question No. 6

70 U M A FaT &, “qg A5H AY AT F gFlar T F [T §1" §0 3@ A5 & T HY 2
A)ser B)@Terr
C)drar D)#$

Hari says to a man, "This boy is the son of the only son of my father." How is the boy related to Hari?

A)Son B)Brother-in-law
C)Grandson D)Brother
Answer Key : A Your Response : A (Correct) Raise Objection(Question No. 6) (objection.aspx?qwr=3310159829&qwer=6)

Question No. 7
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XA & wfaueT i FhT vsT T F#; ¥ forr ar am
A)TeTTSes Tl 3T AR SETIED
C)aceizd D)&T

The Union State List of Indian Constitution was taken from-

A)United States of America B)Canada
C)Netherlands D)Russia
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 7) (objection.aspx?qwr=3310159829&qwer=7)

Question No. 8
fArafaf@a Srerly #r waueqas 9¢ AR A R v gwea &1 3o &) 9w Sea—eT, 0], a1, geir 3R
A ST eET-3er AEi-P, 'Q, R, 'S' 3R T & -t IRage Avel-aE, I, g9 SR, SR 3N
AT ¥ T §, AfheT SR A § T sHe A @ @ i) S 'R AT I § qF AT A SEr Sar gl i)
], 'S # AT FR ¥ FCA §, AR 0], 'Q Fr AT g e ¥ FA 1 i) ol Aa ¥ AT FCA § AGH
T, &7 @ AT FEA §1 iv) S R IARP A AET T §, 96 99 § A Ser g1 Fefaf@a F @ @l s
AT N AT 82
A)aTL B)3er 3aied
C)as DI

a

Read the following information carefully and answer the question given below. Five friends—Maha, Renu,
Banu, Suji and Thanu travel to five different cities—'P', 'Q’, 'R’, 'S' and 'T" by five different modes of transport
—bus, train, aero plane, car and boat but, not necessarily in the same order. (i) The person who travels to 'R’
does not travel by boat. (ii) Banu travels to 'S' by car, and Renu travels to 'Q' by aero plane. (iii) Suiji travels by
boat whereas Thanu travels by train. (iv) The person who travels to 'R’, and 'P' does not travel by bus. Who
among the following travels to the city 'S?'

A)Banu B)Data inadequate
C)Thanu D)Suiji
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 8) (objection.aspx?qwr=3310159829&qwer=8)

Question No. 9

TR 939 fAwrfaf@a & & fra @a ¥ weEfta 82
Ayefaa B)3Metw
C)eae g D)HFhaTsir

With which of the following sports is Tiger Woods associated?

A)Tennis B)Golf
C)Table tennis D)Boxing
Answer Key : B Your Response : C (Wrong) Raise Objection(Question No. 9) (objection.aspx?qwr=3310159829&qwer=9)

Question No. 10
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39 fashed i1 =01 S S A T AT F 4TS gu B & agd AfdE auHe
gl

A : ; B i '

Choose the alternative which closely resembles the paper fold of the

given figure.
pesenees - PETCTEERES .
L | =
eEssEsssas "
sesee " : :
‘ f " | &
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 10) (objection.aspx?qwr=3310159829&qwer=10)

Question No. 11

AR #, el AT sizR CaRT Sefere g g
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A fasht s+ B)facd #aTerT
C)9RdT Rera d% D)EXIM d&

In India, the Foreign Exchange Reserves are managed by-

A)Private banks B)Ministry of Finance
C)Reserve Bank of India D)EXIM bank
Answer Key : C Your Response : B (Wrong) Raise Objection(Question No. 11) (objection.aspx?qwr=3310159829&qwer=11)

Question No. 12

I T 7 =47 FE ST A TS P BT HIH A= ATTEAT T FA AT g Ak
99 & XY % =1 7= ST 2|

o
73 2] =
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Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

A
; |
- S
N
Answer Key:D  Your Response : D (Correct) Raise Objection(Question No. 12) (objection.aspx?qwr=3310159829&qwer=12)
Question No. 13
AT Y G|
A)KLOR B)IJRQ
C)DEWV D)CDXwW
Find the ODD one out.
A)KLOR B)IURQ
C)DEWV D)CDXW
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 13) (objection.aspx?qwr=3310159829&qwer=13)

Question No. 14
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& a$ ampfar & farae Prege €2

How many triangles are there in the given figure?

A 10 B 11
C 12 D. |14
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 14) (objection.aspx?qwr=3310159829&qwer=14)

Question No. 15

Ifg v 31T 5 RAeie 7 2/3 fredt Torar &, ar frs/Eer 7 3udr afa samw|
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A)4 Rrsi/eer
C)7.5 frsieer

B)8 freieer
D)1.5 Rrai/eer

If a man walks 2/3 km in 5 minutes, find his speed in km/hr.

A)4 km/hr
C)7.5 km/hr

Answer Key : B Your Response : B (Correct)

sfiher efaT ¥ Rua &
A)aRa
C)scealr

The Eiffel Tower is located in-
A)Paris

C)ltaly

Answer Key: A Your Response : C (Wrong)

JfAeeT afgd v R §
A)ssfieT e
C)asiFare

Anirban Lahiri is a professional-
A)Badminton player

C)Cyclist

Answer Key: B Your Response : A (Wrong)

I AT HT TEAISH Hlel 412
A)GAY
OERE

Who was the founder of the Mughal dynasty?

A)Humayun
C)Jahangir

Answer Key : B Your Response : B (Correct)

©3Nrg, e 7 & fhw deredr fRwd & T 872

B)8 km/hr
D)1.5 km/hr
Raise Objection(Question No. 15) (objection.aspx?qwr=3310159829&qwer=15)

Question No. 16

B)ST=iT
D)s# & S fashoq gt

B)Germany
D)None of the options
Raise Objection(Question No. 16) (objection.aspx?qwr=3310159829&qwer=16)

Question No. 17

B) 3wl
D)9geraret

B)Golfer

D)Wrestler
Raise Objection(Question No. 17) (objection.aspx?qwr=3310159829&qwer=17)

Question No. 18

B)aTeR
D)2rg STgr

B)Babur
D)Shah Jahan
Raise Objection(Question No. 18) (objection.aspx?qwr=3310159829&qwer=18)

Question No. 19
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A)AAT ggTar B) frAeT ugrsr
C)sad & F1E e wgT D)Riarfare dgrdr

At the foot of which of the following hills is Chandigarh located?

A)Morni Hills B)Shimla Hills
C)None of the options D)Shivalik Hills
Answer Key : D Your Response : B (Wrong) Raise Objection(Question No. 19) (objection.aspx?qwr=3310159829&qwer=19)

Question No. 20
e HEr AR 38F 3/5 F AT F IHaw 50 ¥ HEAT AT B2
A)125 B)75
C)100 D)130

The difference between a number and its three-fifths is 50. What is the number?

A)125 B)75
C)100 D)130
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 20) (objection.aspx?qwr=3310159829&qwer=20)

Question No. 21
el oftem ¥ ol F v GHg F I @ AT Arew 52 a1l @EF A ¥ 20% A 80 F AT I e
frar 3 asfRat F & 25% o 31 T AT 3iF urod AT AY 55% BET F AT 3F H IAT AN
A)51.36 B)50.25
C)45.25 D)54.62

The arithmetic mean of the scores of a group of students in a test was 52. 20% of the boys secured a mean
score of 80 and the 25% of the girls secured a mean score of 31. Find the mean score of the remaining 55%
of students.

A)51.36 B)50.25
C)45.25 D)54.62
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 21) (objection.aspx?qwr=3310159829&qwer=21)

Question No. 22
20 TEGEit T AR HeT x TEPHT F AHT 7eT & W/ §1 I 25% FT o7 9red gier ¢, A X' H A AT
Hfa
A)16 B)15
C)25 D)18

The cost price of 20 articles is the same as the selling price of x articles. If the profit is 25%, then find the
value of 'x'.
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A)16 B)15
C)25 D)18
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 22) (objection.aspx?qwr=3310159829&qwer=22)

Question No. 23

39 e T T =FFT ST AT B AT HAH A= ATTEAT T FAAT g HATh
97 F XY F A1 71 AT 2

X

A\
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Choose the alternative that best resembles the mirror image of the
given figure when the mirror is held along XY.

X
C by
NI s [&)

c || D. ||(B

Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 23) (objection.aspx?qwr=3310159829&qwer=23)

Question No. 24

Fod e & R fr HgfT #la wwar 82
A)IrsTTel B)Irsgufar
C)HRd & HET =ararefier D)3=d ~ardTeld & HEd ~grareder

Who appoints the Judges of the High Court?

A)Governor B)President
C)Chief Justice of India D)Chief Justice of the High Court
Answer Key: B  Your Response : C (Wrong) Raise Objection(Question No. 24) (objection.aspx?qwr=3310159829&qwer=24)

Question No. 25

R & YUH IGeR Sielkel HieT A?
A)ars Roaa B)dfs sorgisir
C)ane feesw D)aTs &otel

Who was the first Governor General of India?

A)Lord Ripon B)Lord Dalhousie
C)Warren Hastings D)Lord Curzon
Answer Key : C Your Response : D (Wrong) Raise Objection(Question No. 25) (objection.aspx?qwr=3310159829&qwer=25)

Question No. 26
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fArfaf@a & ¥ e Tsgufar 9= ey &ar 82

A) TUTAHST B)AET =aeiter
C)3wrSgafa D)&¥E

To whom among the following does the President give his resignation?

A)Prime Minister B)Chief Justice
C)Vice-President D)Parliament
Answer Key:C  Your Response : B (Wrong) Raise Objection(Question No. 26) (objection.aspx?qwr=3310159829&qwer=26)

Question No. 27
H@em F g HI 110, 99, 86, (.), 54, 35

A)75 B)71
C)81 D)67

Find the missing number in the following series. 110, 99, 86, (...), 54, 35

A)75 B)71
C)81 D)67
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 27) (objection.aspx?qwr=3310159829&qwer=27)

Question No. 28
gfe et 'AMMONIA' & 'DPPRQLD' & &9 # Hedag T Srar &, af 'FKORULQH' & faT s =r em?
A)CONVERGE B)CHLORINE
C)CONVENER D)ELECTRON

If the word '"AMMONIA' is coded as 'DPPRQLD’', what should be the word for the code 'FKORULQH'"?

A)CONVERGE B)CHLORINE
C)CONVENER D)ELECTRON
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 28) (objection.aspx?qwr=3310159829&qwer=28)

Question No. 29
XA BINCHFITTI2I05T TR ac AT g FA:B=5:43RB:C=9: 10, @ B & HRr A
AT
A)%.360 B)%.450
C)%.400 D)%.210

If Rs.1210 is divided among A, Band C, so that A:B=5:4and B: C =9: 10, find the share of B.

A)Rs.360 B)Rs.450
C)Rs.400 D)Rs.210
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 29) (objection.aspx?qwr=3310159829&qwer=29)
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Question No. 30

21 311 4
T s S 4 242 =4 =

5 3 71 7
A -3 B. |-2
C 1 D. |3

2 1 311 4

Evaluate: =+ -+ =-.—+ =
5 3 T 16 7
A |-3 B. |-2
C 1 D. |3
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 30) (objection.aspx?qwr=3310159829&qwer=30)

Question No. 31
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Pl & & frae 1881 3% aeieger 99 wae A e # R 2

A)TS hoteT B)ellS Soglell
C)alis Rous D)l sietarierd

Who among the following repealed the Vernacular Press Act in 1881?

A)Lord Curzon B)Lord Dalhousie
C)Lord Ripon D)Lord Cornwallis
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 31) (objection.aspx?qwr=3310159829&qwer=31)

Question No. 32
ffaf@a & ¥ slaar ARY AP # fya 2
AT ST AT B)ggcrear Hfex
C)@Iod g AfR D)o I AT 3R gl Stereary #feR gt

Which of the following temples is located in Odisha?

A)Puri Jagannath Temple B)Brihadeeswarar Temple

C)Konark Sun Temple D)Both Konark Sun Temple and Puri Jagannath
Temple

Answer Key : D  Your Response : A (Wrong) Raise Objection(Question No. 32) (objection.aspx?qwr=3310159829&qwer=32)

Question No. 33
ffaf@a sl #F JEuEgas 96 AR A Bu o wa & 3aw &1 () 5% a0, ey, v,
shfeer, gt s gR reer-areer Fioet # g W ed a7 A, B, C, D, E 3R F § | 3% g Rt &
FFERT ATeasHat & 1T FAAIAF & T 37eler {1 oA gl S fell, ofrel, I[eral, g0, Farehr AR afe,
FTelith IE A F 9gT IR 8 QAT SR AL §1 (i) S AT T IgAaT & a8 Flaer 'D' F e §, dW a®
S & FOHT g T § I§ Floer ‘A" F ug W@ &1 (iii) R AT o FAwT 'C' F ygar & A1 & 'E' H (iv) U A
A §orie TEeT § AR aF Fioer 'B' F wgar ¥l (v) A @i 'E' # A8 wgar §, AR Foh v & e
& HGY Fioist 'C' A A& 1 (vi) GIAT Pt T F wgar § R ar o shfaer a1 & R wosr ‘D' F e #
(vii) Pl 'E' & 91T o1 o ot 3R a1 & ey o1 fir g § 3R TaHr Fles 'A' H wear g1 R A @
T T §?
A)HAT TS T HT FoIHT 6T Tl & B)efaer sierer 'E' & godr &
C)TeHTT & &Y T # Forde ugel ¥ D)FirsT 'E' % ©F el 1 7 dordie Ugeq &
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Read the following information carefully and answer the question given below. (i) Six friends—Raju, Dhilip,
Lakshman, Nitish, Surya and Hari are studying in different colleges namely A, B, C, D, E and F. They attend a
ten days rafting course—each one wears different coloured helmet i.e. yellow, red, pink, green, purple and
blue, though not necessarily in the same order. (ii) The one who wears blue helmet studies in college 'D', and
the one who is wearing green helmet studies in college 'A'. (iii) Hari neither studies in college 'C' nor 'E'. (iv)
Raju wears pink helmet and studies in college 'B'. (v) Nitish does not study in college 'E’', and purple colour
helmet does not belong to college 'C'. (vi) Surya studies in college 'F' and neither Nitish nor Dhilip studies in
college 'D'. (vii) College 'E' has neither purple nor yellow coloured helmet and Lakshman studies in college 'A'.
Which of the following is INCORRECT?

A)Surya does not wear Pink coloured helmet B)Nitish studies in college 'E'
C)Lakshman is wearing green coloured helmet D)Student of college 'E' wears red coloured helmet
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 33) (objection.aspx?qwr=3310159829&qwer=33)

Question No. 34
TF fad AfET & o F AT g IR Fr g1 3/ gar goiar ¢ @ 4 e fr g F gee W g 20
fRee &8 & agdam 5 fl/Ee i o § oA W JF 10 fAefe Sedy 9T Sean| 3§ e gff 0T FEh §?
A)15 foraY B)10 farel
C)20 famalt D)5 famalt

A person starts walking to attend a meeting. He finds that he will be late by 20 minutes if he walks at 4 km/hr.
He will reach 10 minutes early if he walks at 5 km/hr. How much distance should he cover?

A)15 km B)10 km
C)20 km D)5 km
Answer Key : B Your Response : Not Answered Raise Objection(Question No. 34) (objection.aspx?qwr=3310159829&qwer=34)

Question No. 35
ar A3 F AT 3 1 10 & I F § AR ot A BT 1 1 2 F epara F §) gevehr wndey FamsAt H
9T & el oamd |
A4 : 5 B)6 : 5
C)3:5 D)2 :5

The volumes of two cones are in the ratio 3 : 10 and the radii of the cones are in the ratio of 1 : 2. Find the
ratio of their respective heights.

A)4:5 B)6: 5
C)3:5 D)2:5
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 35) (objection.aspx?qwr=3310159829&qwer=35)

Question No. 36

fAafaf@a & & e T & ISRO & g1 € 3 HUaT ggeam TAW HAlclion Seargaelet WeX (S-TIC) Ter 82
INGIGEGIE B)AGRISS

)
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C)Rga D)3Nf2er

In which of the following states has ISRO recently opened its first Space Technology Incubation Centre (S-

TIC)?

A)Tamil Nadu B)Maharashtra

C)Tripura D)Odisha

Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 36) (objection.aspx?qwr=3310159829&qwer=36)

Question No. 37

AT # @ F1 Y RT T FdY FI Fo@ g TF F T FWEM? ACDF : KMNP =1 EGHJ : ?
A)PRSU B)NPQS
C)OQRT D)QSTV

Which of the following will best complete the relationship given below? ACDF : KMNP :: EGHJ : ?

A)PRSU B)NPQS
C)OQRT D)QSTV
Answer Key : C  Your Response : C (Correct) Raise Objection(Question No. 37) (objection.aspx?qwr=3310159829&qwer=37)

Question No. 38

fafaf@a &7 & @ Yo A FEuegEs 96 MR A Bu v w7 3ar &) vE Aceed SR
I AR Bde & AT RS Hr qamer = @ 81 3 3FGaR F g Arfaf@a degae @ o
(i) 60% 3R & AT T AT FIadh A GeTad 50% 3iht F WA Th Fell FAMaH| (i) FRE-FARAT For
W (FMCG) AHRET ¥ %07 & 7 5 a¥ 1 3goal (i) Roer st & dwgfoadt § #7 @ 57 3 0=
(iv) =gFaH 60% 3if & T AR FAstanie F BafvRcar dar oifkel Iy 1% 3:fear (i) & 3remEr
3§ AGES FY QU FAT §, AT 3V BT FRPR 38 (FMCG) ARG & F7 & 77 3 Wil 7
FIA AT §, A FHH AT FOi & WRafas AEF A AT 51 FFar ¢ A S 3FAGER (ji) F rerar
3§ ATEST A YU AT ¢, Afer 3uF W 9 Roer et & & Rl ve & d1gfa WA &
FA TF 9T §, o 3HH AFA N F B AR @ A9 I Fwar §1 Rt e Arafemew @ 55%
3P F WY FRAET 7 TAF §1 T8 PRE-HAT FogeR 30 (FMCG) ARKRET & & % Roer 6 anf § wv
FT T &1 38F U 62% 3 & WY ATHe Adsrie 7 Bealar s 8l

A)3FIEar 1 fagerd fohar S =ifge B)3FHIGAR &I HATHAT YT AN Sl AT gremm
C)3¥HIcar T ATHT BT AATK F1 At grem D)3er 3raaiea
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Study the following information carefully and answer the question given below. A multinational corporation is
looking for professional in its marketing division. The ideal candidate must possess the following
qualifications: (i) A science graduate with a minimum of 60% marks or an arts graduate with a minimum of
50% marks. (ii) At least 5 years experience in Fast-Moving Consumer Goods (FMCG) marketing. (iii) At least
3 letters of recommendation from previous employers. (iv) Must have a degree/diploma in marketing/sales
management with a minimum of 60% marks. In case a candidate satisfies all the other criteria EXCEPT (ji),
but has at least 3 years work experience in Fast-Moving Consumer Goods (FMCG) marketing, then his/her
case may be referred to the Administrative officer of the company. In case a candidate satisfies all the other
criteria EXCEPT (jii), but has at least one letter of recommendation from any one of his/her previous
employers, then his/her case may be referred to the Deputy Manager of the company. Ishwarya is an
economics graduate with 55% marks from Delhi University. She has been working for the past 6 years in the
field of Fast-Moving Consumer Goods (FMCG) marketing. She also has a diploma in marketing management
with 62% marks.

A)The candidate has to be selected B)The candidate has to be referred to the

Administrative Officer
C)The candidate has to be referred to the DeputyD)Data inadequate

manager
Answer Key: D  Your Response : Not Answered Raise Objection(Question No. 38) (objection.aspx?qwr=3310159829&qwer=38)

Question No. 39

sel T aF oA e St AN QU 1w aw Skar waer auifer @1 Rstfeaw ;- veyfafaas
A)drerer ;e B)reeT: Harefrer
C)drar : T D)eier : &@rar

Choose the pair that shows the same relationship as in the pair given below. Hindalium : Aluminium

A)Brass : Copper B)Carbon : Manganese
C)Lead : Silver D)Iron : Lead
Answer Key: A Your Response : B (Wrong) Raise Objection(Question No. 39) (objection.aspx?qwr=3310159829&qwer=39)

Question No. 40
el el o 5% af¥F surer aX @ 2 9% & WrURor IR THYRE SATST F W $.25 ¥ 9§ AR Fd]
A)¥.10000 B)¥.5000
C)%.1000 D)%.11000

The difference between the Simple and Compound Interests on a sum of money at the rate of 5% per annum
for 2 years is Rs.25. Find the sum.

A)Rs.10000 B)Rs.5000
C)Rs.1000 D)Rs.11000
Answer Key : A Your Response : Not Answered Raise Objection(Question No. 40) (objection.aspx?qwr=3310159829&qwer=40)
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Question No. 41

afEaarcmr s T s LA iR R wrarsacs
TrerfertaT arfernr & fatsre Irsa1 7 Tiaanit s |§ w2 a9 § 39edd 20 A7 AT
ITH SFEATE] @l T2 397471 1% 2

2014 2015 2016 2017 2018
=g

3T || 3T | FFF| ST | 9FE| S99 | 9| S (IR
i 5200 | 720 | 8500 | 980 | 7400 | 850 | 8800 | 775 | 9500 | 1125

daffirste | 7500 | 840 | 9200 | 1050 | 8450 | 920 | 9200 | 980 | 8800 | 1020

AT T 6400 | 780 | 8800 | 1020 | 7800 | 890 | 8750 | 1010 | 9750 (1250

Fidlc® 8100 | 950 | 9500 | 1240 | 8700 | 980 | 9700 | 1200 | 8950 | 995
g 7800 | 870 | 7600 | 940 | 9800 | 1350 | 7600 | 945 | 7990 | 885
Iufeaa(3T). TFEaERT)
oy aqT & S0 T AaE § IUitad gus=i=ard w3 iad Ara hiteo

A 8630 B. 8720
C. 8780 D. 8820

Study the following table and answer the question given below it.
The following table represents the number of candidates appeared and qualified
in a competitive examination from different states over the years.

2014 2015 2016 2017 2018

App. | Qual. | App. | Qual. | App. | Qual. | App. | Qual. | App. | Qual

5200 | 720 | B500 | 980 | T400 | 850 | G800 775 | 9500 1125

7500 840 9200 | 1050 | 5450 920 9200 a80 8800 1020

, 6400 | 780 | 8800 | 1020 | 7800 | 890 | 8750 | 1010 | 9750 | 1250

8100 | 950 | 9500 | 1240 | 8700 | 980 | 9700 | 1200 | 8950 995
7800 [ 870 | 7600 | 940 | 9800 | 1350 | 7600 | 245 7990 885

s = (LS

Find the average number of candidates who appeared from Tamil Nadu
during the given years.

A 8630 B. 8720
C. 8780 D. 8820
Answer Key: A Your Response : Not Answered Raise Objection(Question No. 41) (objection.aspx?qwr=3310159829&qwer=41)

Question No. 42
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IRrSgufa & g&eT 3reuet
A)ATHTHT B) IS a#T
C)IrérT fasra aRwg D)JISTaAT 31T

The Vice-President is the ex-officio chairman of the-

A)Lok Sabha B)Rajya Sabha
C)National Development Council D)Planning Commission
Answer Key : B Your Response : B (Correct) Raise Objection(Question No. 42) (objection.aspx?qwr=3310159829&qwer=42)

Question No. 43

3T HY oA |

A)GFHIFER : AMEh B)Felh : WISl

C)aferex: M3l D)ahie : AEH

Find the ODD one out.

A)Shopkeeper : Customer B)Clerk : File

C)Doctor : Patient D)Lawyer : Client

Answer Key:B  Your Response : D (Wrong) Raise Objection(Question No. 43) (objection.aspx?qwr=3310159829&qwer=43)

Question No. 44

3 faehew 7 s £S5 ST s (X) ¥ A4S g0 w9 % 9gd Afdw a9 2

n
[2]6

1

3]5]

(X)

5 [6 4 5

506 [512) [5]U 6]

(P) Q) (R) (S
A, |(P)FIT B. |(Q)&Faar
C. |R) Faer D. |(S)Faa
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Choose the alternative which closely resembles the folded form of

figure (X).
n
[2]6
1
3|5]
(%)
5 6 4 5
(e [s]2 [5[Y [6]?
] Q) (R) ®)
A, |(P)Only B. |(Q)Only
C. |(R) Only D. | (S)only
Answer Key : D Your Response : Not Answered Raise Objection(Question No. 44) (objection.aspx?qwr=3310159829&qwer=44)

Question No. 45

ffwedt & @ 3@ 3T F1 g9 A AT BE v e w7 wEd 3=
T ¥ U HLET ¢
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Choose from the alternatives the figure that best completes the
pattern given below.

C. VL\‘ D. %

Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 45) (objection.aspx?qwr=3310159829&qwer=45)

Question No. 46
Tl 93 Felr Fust & 0 oy §, ==t -

A)d AT F IS W@ drel gl B)d gl #us ¥ Y g &
C)d dv & 3T U 8§l D)d a9 & X HTeleh gl &

Woollen clothes are warmer than the cotton ones because-

A)They are better absorbers of heat B)They are heavier than cotton clothes
C)They are better radiators of heat D)They are poor conductors of heat
Answer Key : D Your Response : C (Wrong) Raise Objection(Question No. 46) (objection.aspx?qwr=3310159829&qwer=46)

Question No. 47

el e W 5% aif¥F awgfe sarer Y aX & 3 9 ¥ 3783 FUT ;ST WIed Blar ¢l TF R Frceh 87
A)¥.10800 B)¥.8000
C)¥.24000 D)¥.10000

A sum yields interest of Rs.3783 in 3 years at 5% per annum of compound interest. What is the sum?

A)Rs.10800 B)Rs.8000
C)Rs.24000 D)Rs.10000
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 47) (objection.aspx?qwr=3310159829&qwer=47)

Question No. 48
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Shar o $.18.50 ufY famam & ax & 30 fraiema araer @l 31K 20 e e $.23.50 ufe frelr i &3
¥ GATT| 387 3T Q=i YR & et Fr Aer ar 45 gfaera ot FA= & Qv 33 35 Ao, ufa ey
P AT W 9T TIfRT?

A)%.28.22 B)%.30.22

C)%.29.72 D)%.26.72

Jeeva bought 30 kg of rice at the rate of Rs.18.50 per kg, and 20 kg of rice at the rate of Rs.23.50 per kg. He
mixed these two types of rice. At what price per kg should he sell the mixture to make 45 per cent profit?

A)Rs.28.22 B)Rs.30.22
C)Rs.29.72 D)Rs.26.72
Answer Key : C  Your Response : Not Answered Raise Objection(Question No. 48) (objection.aspx?qwr=3310159829&qwer=48)

Question No. 49
IR pxq=p*+q*-pqe a 12 x 13 H A AT HLI
A)113 B)93
C)157 D)103

If p x g =p?+ g2 - pq, then find the value of 12 x 13.

A)113 B)93
C)157 D)103
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 49) (objection.aspx?qwr=3310159829&qwer=49)

Question No. 50

Rafas :r @ frasr fi?
A)EHT Y B)3Tcldaiesy FelfHeT
C)aafFR weah D)t & @IS faseq AT

Who among the following discovered vitamins?

A)Humphry Davy B)Alexander Fleming
C)Casimir Funk D)None of the options
Answer Key: C  Your Response : C (Correct) Raise Objection(Question No. 50) (objection.aspx?qwr=3310159829&qwer=50)

Question No. 51
IF §eW 9 TEW FT @ ¥ S 852, 1065 AR 1491 F Q-G HET 9T T §7
A)213 B)193
C)210 D)203

What is the greatest number which divides 852, 1065 and 1491 exactly?
A)213 B)193
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C)210 D)203
Answer Key: A Your Response : A (Correct) Raise Objection(Question No. 51) (objection.aspx?qwr=3310159829&qwer=51)

Question No. 52

& S1-3i Y TEAT 6T & 5/6 & S § 519 58F i & qRafdd & ar sar §1 Iy o 3 F s #
R &, A &A1 FT gaT |

A)65 B)56

C)54 D)45

A two-digit number becomes five-sixths of itself when its digits are reversed. If the two digits differ by one, find
the number.

A)65 B)56
C)54 D)45
Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 52) (objection.aspx?qwr=3310159829&qwer=52)

Question No. 53
X% (y) + y% (x)] e fifSw]

A)xy T 2% B)y & x%

C)3 &1 xy% D)x &T y%

Find (x% of y + y% of x).

A)2% of xy B)x% of y

C)xy% of 3 D)y% of x

Answer Key : A Your Response : Not Answered Raise Objection(Question No. 53) (objection.aspx?qwr=3310159829&qwer=53)

Question No. 54

AR F Fr AfARYE F 9HE FiT @ar 82
A)TST FHT 3TEgeT B)dlleh T@T 37eT8T
C)Irsgufa D)9eTAH=T

Who is the head of the Union Council of Ministers in India?

A)Rajya Sabha Speaker B)Lok Sabha Speaker
C)President D)Prime Minister
Answer Key : D  Your Response : D (Correct) Raise Objection(Question No. 54) (objection.aspx?qwr=3310159829&qwer=54)

Question No. 55
Ife o wEAr qEdr #r 80% & AR 37 @t & AT F 4 W, 656 ¢, A HEAT AT P
A)18, 20 B)16, 20
C)8, 10 D)4, 5
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If one number is 80% of the other and 4 times the sum of their squares is 656, then find the numbers.

A)18, 20 B)16, 20
C)8, 10 D)4, 5
Answer Key: C  Your Response : Not Answered Raise Objection(Question No. 55) (objection.aspx?qwr=3310159829&qwer=55)

Question No. 56
39 W A AT FYT U v § 39F g Q s 1 30 frpd A 9o S 0F F HUR W {9 39T @
FYel: 1) T S W §1 2) FS W s A §1 3) W sdF a3 §) Avwd: | W a3 sw g w
AT g1 1. FE $o1 dAF A B
A)dhad Asay | grefeT T Bl B)dhad TSy || Ureled &ar 2l
C)ar ar swy | a7 || 9releT T & D)t fasey | 3R 1l greleT #&d g

In this question, three statements are given followed by two conclusions. Choose the conclusion(s) which best
fit(s) logically. Statements: 1) All bags are purses. 2) No purse is black. 3) All blacks are brown. Conclusions:
1. All brown being black is a possibility. Il. No bag is black.

A)Only conclusion | follows B)Only conclusion Il follows
C)Either conclusion | or Il follows D)Both conclusion | and Il follow
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 56) (objection.aspx?qwr=3310159829&qwer=56)

Question No. 57
A 3 2020 i nfAERE R #
A)ASH B)HIgReT
C)sd=h 3R fam D)fAterar

The official mascot of Tokyo Olympics 2020 is-

A)Magique B)Soohorang
C)Quatchi and Miga D)Miraitowa
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 57) (objection.aspx?qwr=3310159829&qwer=57)

Question No. 58

AT & & = M RU 71T Faer Fr G g alF F QU FWM? FIGUR : FGIRU :: STRES : ?
A)TRSES B)SRTSE
C)SRSET D)STERS

Which of the following will best complete the relationship given below? FIGUR : FGIRU :: STRES : ?

A)TRSES B)SRTSE
C)SRSET D)STERS
Answer Key: B Your Response : B (Correct) Raise Objection(Question No. 58) (objection.aspx?qwr=3310159829&qwer=58)

Question No. 59

WA F 3F F TIH i U F AT AT
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A)28 B)14
C)35 D)21

Find the average of the first five multiples of seven.

A)28 B)14
C)35 D)21
Answer Key : D  Your Response : Not Answered Raise Objection(Question No. 59) (objection.aspx?qwr=3310159829&qwer=59)

Question No. 60
AT AR F 9RRIEs I #5 9 Rua #
INECIGH B) fdeelr
C)de D)IReeT

The thyroid gland in the human body is located in/near the -

A)Armpit B)Spleen
C)Abdomen D)Neck
Answer Key:D  Your Response : C (Wrong) Raise Objection(Question No. 60) (objection.aspx?qwr=3310159829&qwer=60)
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